N H = h
Ubersichtsplan 1:5'000 , Pae
= rAT§§ Vi
\\\\\\\\\\ I\ §§\ //
== | ] AN y
Sso \ [ AN
= N AN /
1. Z G ! \\\\\\\ \\/ §§\ //
o - \ N
LT AN SN //
\\c 4/': \\\\\\ \§\ Ve
N2 ~ / S 2
~ Sy N
~ A S / /)/ -
= / N s P N Kreisel
\ s / AN \\\\\ Y /)
N / ~ S 7, N Talacher
/ ~ = 4 NN
b} / N i \ NN
/ N\ ya \ N
N

———
= / |
> / | N\
P> // | / / | = E————
~~ | / 2 =
| ! S5 \
_ | // \\ ﬁ\\\ / x
= // \ Q S s N s({
/ / \\ J\\\\ M~ % N / < . A
||\ ANy A \ A D A
=K
N = S ~
. '\
AN - —

2

Vi
7
/ /o
/// / <
[
/
\
\ /
A\ |
AR - - / [
W\ Drittprojekt / l
WY\ / {
WA Tagente Zug/ Baar ]
W\ \ J
WA
\\\\ \\ s
Y1 \ N {‘
I \ \ /
|| | \ \\ » /) //
J’ II TN \ A /
Vi ” } \\ \\ /<\
\ \ \
— | \ \
=] (: P \ \ \
NS
A oS
vV \
4
e |
T |
P l\ * N\
==
] § \
\ \
L= \\\\ \\
T \\ w
e @,
, =
NN Y Q
«Q
@
(BN

Mst. 1:5000

Om 100m 200m 300m




